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14° 0.2419 0.9703 0.2493
15° 0.2588 0.9659 0.2679
16° 0.2756 0.9613 0.2867




7} o] Zo]7} 10m 9 Abche

A 9l AW} Arta] 7} o]
7= 30° o]t} o], Ajr}e] o] 10m

3 = 29 AC ©| Aol Fatofet




cm?®



16.

0] 100m Q1 EHA Hie] FH]E 7

et B zhe] 327)= 60° Aot 10 30°

2 5 oA o] F0)5 et B, R0 100m
et 2 zhe] 37]%= 30° o]t o]

ul7F 10 2 F4t 7 Al TS &
® 50v3m ® 1252‘/§m ® QO%@m

@ 175\/§m G 215\/§m

2 3



17. 5 A" A, B Ao]9] A& dotkH 7] 9 A

o ok 2ol SAskR AL & o, = A
HA, B Atole] AgL guplrt? 30em
B 600 lc

D 15V7(m) @ 14V7(m) TS~ d5em--
@ 13V7(m) @ 12V7(m)
® 11V7(m)




18. t5 AABC oA A = 45°, /B = T75°,
AB = 12cm ¥ o, BC ¢] do]& F5}o]
=t.







20. o 2”4 YR Eol he? (B, V3 = L7 ALtgiet )

A

) T

h

30° A‘ i
D

“~30m-"C

@ 21.5m @ 22.5m @ 23.5m

@ 24.5m ® 25.5m



2 ke AL

D 60 @ 60.5
® 62 @ 62.5
® 64







23.

@ 6V3

@ 6

® 12vV3 @ 12

® 122



24. TS I¥3 T2 0ABCD 9 Hol& D
T5hof et




25.

T TR 2ol A4 ¢ o VEr—y+
2= 01w}, A4 ¢ 9]y ARE A}
A4 ol el 2] A e
O y=x+2

3
@ y—?\/_x—Q

3
ok

3
@ y:—§x+2

® y= V3x+2




